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1.Which two of the following statements about the Cisco switching product portfolio are correct? (Choose
two.)

A.The Cisco Catalyst 3560 v2 and Cisco Catalyst 3560-X are stackable.

B.The Cisco Catalyst 3750 v2 and Cisco Catalyst 3750-X are stackable.

C.The Cisco Catalyst 2000 series support 802.1X and MACsec encryption.

D.The Cisco Catalyst 2000 series support PoE and PoE+, but they do not support 60 W per port like the
Cisco Catalyst 3000 and Cisco Catalyst 4000 series.

Answer: BD

2.Which two of the following statements correctly describe service modules available for the 3560-X and
3750-X switches? (Choose two.)

A.The C3KX-NM-10GT service module offers two 10 Gigabit Ethernet SFTP+ ports.

B.The C3KX-NM-10G and the C3KX-NM-10GT service modules provide flexible netflow.

C.The C3KX-SM-10G service module provides flexible netflow.

D.The C3KX-SM-10G service module offers MACsec encryption at line rate.

Answer: CD

3.Which two of the following are unique advantages of the PD/PSE Cisco Catalyst Compact Switches?
(Choose two.)

A.Due to the fanless design, they can be placed in the workplace and drastically reduce in-house cabling
needs.

B.They support 16 PoE output ports.

C.They support PoE+ output.

D.They diminish the power infrastructure by supporting PoE+ input and PoE output at the same time.
Answer: AD

4. Which two security features are part of the Cisco Catalyst Integrated Security Toolkit, which is available
on almost all Cisco Catalyst switches? (Choose two.)

A.IP source guard

B.static ARP inspection

C.MACsec

D.DNS snooping

E.SGACL

F.port security

Answer: AF

5.Which two configurations are performed on Cisco IOS routers when using Cisco AutoSecure? (Choose
two.)

A.ICMP is globally disabled.

B.Directed broadcasts are globally disabled.

C.Source routing is globally disabled.

D.Proxy ARP is disabled on all interfaces.

Answer: CD
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6.Which statement about Cisco Prime is true?

A.lt provides simple and efficient management across architectures, networks, and services.
B.It provides simple and efficient management of security services.

C.It provides management services for all TrustSec products.

D.It is an expert-level monitoring and troubleshooting tool based on Cisco SIO.

Answer: A

7.Which two of the following are components of Cisco MediaNet that simplify network assessment,
monitoring, and troubleshooting? (Choose two.)?

A.MediaTrace

B.MediaPing, using real SSRC-ID

C.Traffic Simulator, based on IP SLA

D.Traffic Simulator, based on ping

Answer: AC

8.Which three of the following statements are correct regarding security features available on Cisco
Catalyst switches? (Choose three.)

A.Port security prevents MAC address flooding.

B.DHCP snooping prevents rogue DHCP servers from being placed on the network.

C.IP Source Guard prevents ARP spoofing attacks.

D.Private VLAN prevents client to client communication.

E.MACsec provides end-to-end encryption.

Answer: ABD

9.Cisco MediaNet provides multimedia optimization services in a Cisco Borderless Network.Which two of
the following statements correctly describe Cisco MediaNet? (Choose two.)?

A.Cisco MediaNet Performance Monitor collects performance metrics of video traffic as flexible netflow
records which can be processed by any netflow collector, such as Cisco Prime Assurance Manager.
B.Cisco MediaNet supports only SNMP traps but not syslog messages.

C.When using PVYDMS3 on Cisco ISR G2, video streams of the same type can be locally mixed within the
router.Video transcoding services require a dedicated video MCU.

D.Cisco MediaNet Mediatrace allows real-time troubleshooting by providing details about every hop of the
end-to-end path of your mediastream.

Answer: AD

10.Which two of the following statements correctly describe Cisco Prime features that help improve
operational efficiency? (Choose two.)

A.The Cisco Prime user interface is optimized for touchscreens.

B.All components of the Cisco Prime for Enterprise product portfolio provide a common look and feel,
which simplifies usability.

C.Integrated workflows and best practices enable quick and error-free deployment.

D.TrustSec, MediaNet, and EnergyWise services are only configured outside Work Centers in Cisco
Prime LMS.

Answer: BC
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